Half of DNA Comes From Each Parent  STUDY GUIDE

MT: Sexual Reproduction

1.  Contrast diploid and haploid.

2.  Define fertilization:

3.  Explain why gametes would have to be haploid.

4.  How do gametes become haploid if they come from a parent that is diploid?

5.  Write the haploid number of each type of organism:


a.  human (diploid = 46)     ____________


b.  dog (diploid = 78)          ____________


c.  wheat (diploid = 42)      ____________


d.  tobacco (diploid = 48)   ____________

6.  Draw a picture to illustrate why half of an organism’s DNA comes from each parent.

Name: _________________








